
York Ag offers a PA Preferred® natural material that helps 
control odors triggered by waste and organic matter. 

YORK Horse Stall Odor Eraser is an aid in reducing 
moisture and controlling ammonia, often generated when 
horses are housed inside stalls, paddocks, and stables. 
Our stable conditioning material helps extend the life of 
your bedding while improving air quality for horses and 
caretakers. It works great with sawdust, shavings, straw, 
and pelleted bedding management systems.

BENEFITS

• Natural Ingredients: YORK Horse Stall Odor Eraser is 
made with all-natural ingredients, ensuring a safe and 
healthy environment for your horses.

• Highly Effective: The combination of fine clay and 
calcium sulphate creates a powerful formula that 
effectively eliminates unpleasant odors. 

• Long-Lasting: YORK Horse Stall Odor Eraser provides 
long-lasting results, keeping your horse stalls smelling 
fresh and clean for an extended period of time.

• Easy to Use: Sprinkle YORK Horse Stall Odor Eraser 
evenly over the stall floor and leave it until it absorbs 
moisture and odors.

• Cost-Effective: It is a cost-effective solution in 
comparison with other cleaning and deodorizing 
products.

EXPERIENCE ODOR-FREE HORSE 
STALLS, PADDOCKS, AND STABLES 
AND CREATE A CLEAN AND FRESH 
ENVIRONMENT.

YORK
HORSE STALL

ODOR ERASER 

“As horse owner, I use 
York’s Odor Eraser to keep 
our facilities odor-free. It’s 
magical. No moisture, no 
stink, no flies.”

Horse Owner, Pennsylvania



TECHNICAL INFORMATION

70% Recycled Natural Material

Ingredients: Calcium Sulphate (Gypsum) & Kaolinite (Clay)

Min: 14% Calcium - Min: 11% Sulfate

www.yorkag.com/york-hsoe

INNOVATIVE     DEPENDABLE     EFFECTIVE

York Ag creates holistic ingredient solutions that optimize animal well-being.
YORK Horse Stall Odor Eraser is a trademark of York Ag Products Inc.
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